

1 a)  $\int_0^1 x^3(1+x) dx = \int_0^1 x^3 + x^4 dx = \int_0^1 x^3 dx + \int_0^1 x^4 dx = \left[\frac{x^4}{4}\right]_0^1 + \left[\frac{x^5}{5}\right]_0^1 = \frac{1}{4} + \frac{1}{5} = \frac{5}{20} + \frac{4}{20} = \frac{9}{20}$

MMGK II 120613  
120830

b)  $\int 3 \sin^2 x \cos x dx = \left[ \begin{matrix} t = \sin x \\ \frac{dt}{dx} = \cos x dx \end{matrix} \right] = \int 3 t^2 dt = t^3 + C = \sin^3 x + C$

c)  $\int \cos^3 x dx = \int \cos^2 x \cos x dx = \int (1 - \sin^2 x) \cos x dx = \left[ \begin{matrix} t = \sin x \\ \frac{dt}{dx} = \cos x dx \end{matrix} \right] = \int (1 - t^2) dt = t - \frac{t^3}{3} + C = \sin x - \frac{\sin^3 x}{3} + C$

2)  $y' + 2xy = 2x$  IF:  $e^{\int 2x dx} = e^{x^2} \Rightarrow \frac{d}{dx}(e^{x^2} y) = 2x e^{x^2} \Rightarrow e^{x^2} y = \int 2x e^{x^2} dx = e^{x^2} + C \Rightarrow y = 1 + C e^{-x^2}$ ,  $y(0) = 1 + C e^0 \Rightarrow C = 0 \Rightarrow y = 1 + C e^{-x^2}$

3)  $y = y_p + y_h$  - hom. eq.  $v^2 - 4v + 3 = 0 \Rightarrow (v-1)(v-3) \Rightarrow y = C_1 e^x + C_2 e^{3x}$   
Ansatz  $y_p = x^m C e^{2x} = (m=0) = C e^{2x}$ ,  $y_p' = 2C e^{2x}$ ,  $y_p'' = 4C e^{2x}$  Einsetzen  $\Rightarrow$   
 $4C e^{2x} - 4 \cdot 2C e^{2x} + 3C e^{2x} = e^{2x} \Rightarrow 4C - 8C + 3C = 1 \Rightarrow C = -1$ .  $y_p = -1 e^{2x} = -e^{2x}$

4) a)  $dist = |(1,1) - (4,5)| = |(-3,-4)| = \sqrt{(-3)^2 + (-4)^2} = \sqrt{25} = 5$

b)  $\gamma(t) = (1,1) + tV$   $V = \vec{AB} = (4,5) - (1,1) = (3,4)$   $A=(1,1), B=(4,5)$

$dist = \int_0^1 \sqrt{(x'(t))^2 + (y'(t))^2} dt = \int_0^1 \sqrt{3^2 + 4^2} dt = \int_0^1 5 dt = 5 \cdot 1 = 5$

5) Maximum Nennern  $x \sin x = x(x + O(x^3)) = x^2 + O(x^4)$   $\lim_{x \rightarrow 0} \frac{\cos x - 1}{x^2} = \lim_{x \rightarrow 0} \frac{-\frac{x^2}{2} + O(x^4)}{x^2 + O(x^4)} = \lim_{x \rightarrow 0} \frac{-\frac{1}{2} + O(x^2)}{1 + O(x^2)} = -\frac{1}{2}$

6)  $I = \int e^{ax} \sin bx dx = \int PI = \frac{e^{ax}}{a} \sin bx - \frac{b}{a} \int e^{ax} \cos bx dx = \int PI = \frac{e^{ax} \sin bx}{a}$   
 $\Rightarrow \frac{b}{a} \left( \frac{e^{ax}}{a} \cos bx + \frac{b}{a} \int e^{ax} \sin bx dx \right) = \left( \frac{\sin bx}{a} - \frac{b}{a^2} \cos bx \right) e^{ax} - \left( \frac{b}{a} \right)^2 I$   
 $\left(1 + \left(\frac{b}{a}\right)^2\right) I = \left( \frac{\sin bx}{a} - \frac{b}{a^2} \cos bx \right) e^{ax} + C \Rightarrow I = \frac{1}{a^2 + b^2} \left( \frac{a \sin bx - b \cos bx}{a} \right) e^{ax} + C$   
 $= \frac{1}{a^2 + b^2} (a \sin bx - b \cos bx) e^{ax} + C$

7) Bernoulli  $\Rightarrow y'(x) = x y(x) \Rightarrow y' - xy = 0$  IF:  $e^{\int -x dx} = e^{-x^2/2} \Rightarrow \frac{d}{dx}(e^{-x^2/2} y) = 0 \Rightarrow e^{-x^2/2} y = \int 0 dx = C \Rightarrow y = C e^{x^2/2}$  Set  $x=0$  : Gleichung  $\Rightarrow y(0) = 1 + \int_0^0 t y(t) dt = 1 + 0 = 1 \Rightarrow 1 = y(0) = C e^0 = C$   $\therefore$  Set Lösung  $y(x) = e^{x^2/2}$